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Whlch type of. plants are mostly = ‘
1n the Sunderban of West

““la) "Halophytes

(b) Xerophytes
(c¢) Marine

(d) Mesophytes.

. What type of ovary is seen in

- family Rubiaceae?

/4-B

(a) Infenor
(b) Supenor
{c)- Half. inferior
(@) Half sgupe“i-iipr‘

. What is the net gain of ATP

molecules in glycolys1s?

@

PR
02
(d) 38

Which part of a chromosome is
never co11ed?

(a) DNA
(b) Chromatin fibres
(c) Nucleolai' organigér.

(d) None of the above

‘5.

oy

. 3 T 4N
L

Which scientist. developed DNA

7" fingerprinting technique first?

.7 (@) H. V. Morgan

() H. G. Khorana

" (c) Alec Jeffreys

6.

o (d‘) Muller

For the purpose of conservation,.

which ' organisation ~ classified
organisms into five groups? -

' (a)“‘ ‘UNO

| (b) IUCN
() UNEP

@ MAB

],Wluch of the. follomng elements
is part of cytochrome ox1dase?

@ Fe |
) Mg

@ He

In Whlch group of plants is Kranz
‘anatorny seen? i

. a ‘C2 plants
.., [b).C, plants

»(c) C4 plants

S ?{d) Succulent plants
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9. Among the folloWing components
.-of chloroplast membranes, which
one is the strongest reducmg

agent?

(a) PQH, .

(b) Reduced cytochr?me b6
{c¢) Reduced ferrodoxin

(d) NADPH,

10.‘ Which one of the follong
statements is ~correct with

respect-to the synthesm of starch
and sucrose? ‘

(a) Starch is synthesized in the
mitochondria and sucrose in
the cytosol

(b) Starch is synthesized in the

cytosol and sucrose in the -

- chloroplast”

() Starch'is synt’hé‘éiiéd in the
chloroplast and _sucrose in
the mitochondria |

(d) Starch is synthesized in the
chloroplast and sucrose in
the cytosol

11. In the study of enzymes, a
: sigmoidal 'plot " of - substrate
concentration ([S]) versus the
reaction velocity (V) indicates
(a) Michaelis-Menten Kinetics -
(b) coopcfative b1nd1ng ‘
(c) .competitive inhibition

(d) non—competitive inhibition

/4B

- 12. Thén Mitchell or chemiosmotic

hypothesis. pﬁ,:dit:ts the

(a) existence of a-higher pH in

. the endoplasmic reticulum .

. than in the cytosol

(b) symmetrical distribution of

ATPase of the innermem-

brane of the mitochondria

(c) synthesis of ATP as protons

- .flow aleng a gradient across
innermitochondrial mem-
brane (R

(d) absence of ATPase in the
1nnerm1tochondna1 mem-
brane

13. Dinitrophenol inhibits cell
. function by disrupting

(a) citric acid cycle
(b) oxidative phosphorylation
(c) glycolysis

(d) gluconeogenesis

14. Which one of the following

~mineral elements does not
appear to be structurally bound .
in plants?

) . (a) Nitrogen "~
(bp) Calcium =~

(c) Phosphorus

(d) Potassium
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Urease F;is an enzyme that 18. The: post-translational process-
catalyses the hydrolysis of urea ing.of secretory proteins. takes
into NH; and CO,. The metallic" place in
- cofactor of the enzyme is
_ : (@) plastid
(a) Ni
(b) Golgi body
(b) Fe s
' (c) mitochondrion
(c/ Mn -
) Cu . (@) nucleus
The- disease little leaf of fruit 19. How many meiotic divisions are
trees is caused by the deficiency - Tequired .to produce 12 pollen
of - ~_ grains ig{pypera:ceae?
@ copper @ 3
(b) zinc o ) 4
() manganese. ‘ , e 6
(d) cobalt @ 12

17.

/4-B

from a high content of

20. Which one of the following does
not exhibit seed dormancy?

An increased melting temper-
ature for duplex DNA results

(d) adenine + guanine (@ Rhiqufzora
(b) cytosine + thyxﬁine | (b) Xanthiam

(c) cytosine + guanine | (c) Phaseolus .
(d) adenine + cytosine | (d) Cassia -

e
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22,

23.

/a-B

Wh1ch one of the followmg_ '

" discoveries provided ~ the
strongest evidence for the
chromosome theory -of heredity?

(a)- Discovery of sex chromo-
somes :

(b) Discovery of palyploidy

{c) Discovery of g1ant chromo—
somes

(d) Discovery of superhumerary
chromosomes

Vi ey
DO

What is the correct sequénce of
stages in prophase I of meiosis?

(a) Leptotene, pachytene, zygo-
tene, diakinesis, diplptene

(b) Zygotene, leptotene, pachy-
tene, diplotene, diakinesis

(c) Leptotene, zygotene, pachy-
tene, diplotene, diakinesis

(d) Zygotene, pachytene, lepto-‘
tene, diakinesis, diplotene

Ti plaémid used in genetic

engineering is obtained from

(a) Bacillus thuringiensis

(b) Agrobactenum rhz.zogenes

(c) Agrobactenum tumefaczens

(d) Pseudomonas synngae

24

Golden rice is a transgemc crop
th a trait for

(a) pest resistance

(p) high vitamin A content

" 258,

(c) drbught ‘resistance

(d) high protein content

Which one of the following pairs

is not correctly matched?

| (a) Inbreedmg Homozygosity

26.

depression
(b) Hybrid ~ : Heterozygosity

vigour :
(c) Apogamy : Fertilization
(d) Male : Cross-

sterility pollination

The foul ﬁéhy smell of a volatile
chemical trimethylamine in the

‘disease-infested wheat field is an

indicator of

(a) - rust |

‘(b)4 smut

() blast

(d) bunt
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28,

Wh1ch of the following is not a
free-living mtrogen ﬁxmg
bactenum?

(a) Azotobacter:

(b) Rhizobium

(c) Clostridium. - + .

(d) Azospirillum:

Cemmon indicator: orgamsm of
water pollution is

(a) Salmonella typhi

29.

gt

(b) Entamoebq;l;ist'o_l‘ytica
(c) Vibrio cholerae

(d) Escherichia coli

Which of the followmg systems of
“classification 'is best suited ‘to
identify thé genus and' Spemes of

. any plant?

(@) Bentham'and Hooker’s
(b) Hutchinson’s
(c) Eichler’s

(d) Engler and Prantle’s

/4B

. 30.

31,

32.

Which of the following. . is
contained in chlorophyll ‘@’?

(a) Oxygen, carbon

(b) Nitrogen, hydrogen

(c) Magnésiﬁm o

(d) All of the above

By the actmty of which tissue

does  secondary growth take
place in dicot stems?

(a) Fascicular cambium

(b) Interfascicular cambium

(o) Co‘rkb cambium

(d) All of the above

Cytokinin helps in
(a) cell elbfxgation
(b)‘ decapitation
(c) cell division

(d) root initiation
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-33. Which plant is affected by late

blight, early blight and black
wart? :

" (a) Radish
(b) Sugarcane
(c) Potato

(d) Groundnut

. Which of the following diseases is
not caused by viruses?

(a) Bunchy top of banana
(b) Tobaccdi,i};;iogaic! o
(c) Leaf roll of potato

(d} Red rot of ‘Sugaxfcane

. The commonest hormone found

in plants is

(a) mofphactin"

(b) abscisic acid

(c) indole acetic acid

(d) citric acid

. During which of the following
phases does synapsis take place?

(a) Leptotene
(b) Zygotene
(c) Pachytene
(d) Diplotene

37. As per the Red ‘Data Book, which

of the following plants are
threatened? ‘

(a) Psilotum
(b) Melia
{c) Acacia

(d) Terminalia

Which of the following gases .is
used for cryopreservation?

‘(a) H, e

(b) N,
() O,
(d) CO,

How many biogeogfaphical zones
are present in-India?

(@ 4
(b) 12
(c 7

@21

~ 40. When carbohydrates are}oxidised

during 'respiration, respiratory
quotient will be

(a) more than one"
(b) one

¢} less than one

(d) two
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42.

43.

Zwitterion effect is ‘exhibited by

- {a) carbohydrates

(b) nucleic acids
(c) enzymatic proteins
(d) lipids o

How many 4differe_nt types of

- proteins are - present in a

ribosome of E. colt?

(a) 24

(b) 34
(c) 55
(d) 74 |

' Phenylketonuria s due to

(a) absence of an enzyme

(b) absence of one chromosome

(c) presence of one more gene

(d) None of the above

Mendel perfoi’rried his work on
pea plants durmg ‘

~ (a) 17th century

/4

(b) 18th century
(c) 19th centur}i ;

(d) 20th century

14

45, Raphanobrasswa is" a cIassxcal‘

example of

(a) autopolypioidy '

(b) auopolypmidy

(c) ségmental polyploidy

(d) None of the above

. Turner’s syndrome is due to’

(@) monosomic chromosomes -

(b) polysomic chromosomes

(c) tnsomlc chromosomes

. (d) blsom1c chromosomes

.. Which chromosome set is: found

in male grasshopper’-’
(@) XY o
(b) XO

© YX

(d) XX

. ‘Herkogamy’ is found in

(a) cotton
(b) marigold
(c) calotropsis

(d) bajra

e den
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49, A'true seed is

(a) fertilized-oviale
(b) fertilized ovulée with embryo
(c) - -unfertilized ovule

(d) fertilized ovary -

50. Fertile soil has pH around -

(@ 56
) 6T
() 89

(d) 4-5

51. Laterite soil is rich in -

(a) Ca
(b) Mg
(c) Fe

(d) Cu.

52. Greenhouse effect is due to

/4

increasing concentration of
(@) CO, '

(b) CO

(9 SO,

(d) O3

16

53. VAM is
(a) bioinsecticide
(b) bioherbicide -
fc) endomycorrhiza

(d) ectomycorrhiza

'54. Transgenic .crop developed to

torlerate» herbicides is
(a) sunflower

(b) tomato

(c) tobacco

(d) Both (b) and (g

565. Coenzyme i's,a/ an

(a) carbohydrate that controls

enzymatic activity

(b) vitamin that acts with an
 enzyme

(¢) inorganic compound

(d) nucleic acid

. 56. Coir is

(@) stone cell
(b) sclerotic cell .
(c) sclerenchyma ﬁbre

(d) wood parenchyma
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57. A cell is placed in 0'5.M solution

- B8.

of sugar and no change in
volume of cell is there, what is
the conc. of cell sap?

(@) 4 M

(b) S M

() 05 M

{d) SO M

The isotope of carbon used
extensively for studies in
photosynthesis is

(a) CIS

(b) Cl4
(C) Cls

(d) ~Clﬁ

59. The tendency of a pathogen to

/4

escape from a disease is termed
as

(@) immunization |
(b) inoculum
(c) Klendusity

(d) antibody

‘18

60. In ‘India, the largest number. of
National Parks are located in

(a) Uttar Pradesh
(b) Madhya Pradesh.
(c) West Bengal =~

61. Which of the following is not an
antibacterial antibiotic?

(a) Tetracycline
{b} Sjcreptomycin
{¢) Nystatin

" (@ Nalidixic acid

62. Anatomy of C, plants shows
..(a) presence of peroxisoxﬁes 3

(b) presence of bundle sheath
cells

(c) absence of mitochondria

(d) absence of bundle sheath
cells .
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63.

64.

65.

66.

Which organisation: is assigned
to maintain the ‘Red Data Book’?

(a) WCU or IUCN™
(b} WWF
(c) CITES

(d) IBWL

For the first time the artificial
seeds are developed by

() K1tto and Janick (1982)

(b) Torrey and Landgren (1972)

(¢ J. B. Power and E. C.
Cocking (1968), ..

(d) Kao (1977)

The word totipotency was comed '

by the scientist

(a) P. R. White‘ (1_934) :
(b) Haberlandt (1902)

(c) Miller and Skoog (1957)
(d) Steward (1957)

The so-called gene’tic‘séiss'drs are
(a) hexokinases |

(b) ligases

(c) krestriction ehdonucleases

(d) aldolases -
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57. The first gene. sanctuary in India

. 68.

was established .in
(a) Assam

(b) Nagaland

(c) Mizoram

(d) Arunachal Pradesh

Turpentine oil is obtained from
(@) Cycas
(b} Pinus

69I

70 .

(d) Gnetum '

What is the edible part in _]ack-
fruit? :

(a) Thalamus

(b) Ovary

(c) Perianth and seed

(d) Fleshy aril

Which one of the foilowing
bryophytes has stomata present
in the sporophyte?:

- {(a) Riccia

(b) Dumortiera
(c) Marchantia

(d) Anthoceros




63.

64.

Lol |

(a) o Wo Jo AT Ao o o To
() T T Tho

(c) Ho Amo Ao 30 Q‘éo

(d) . 50 o T THo

kv o o et P ot

(@) PR T S (1982)

65.

66

14

(b) ¥R T AV (1972)

(c) WMo dio yrE w g0 Hio Pl

(1968).
(d) F3ht (1977)
iR T e e 3 B
for?
(a) dlo IR0 FF (‘13934;)
(b) FaREE (1902)
(c) Toer wd &g (1957)
(d) @aE (1957)

lo) i |

(b)

(0 VR TR
@ s -
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67.

FR A

~ (a) ¥

68.

b) TE
() femm
(d) mﬁam

arcfe et R T feen s 27

() W

69.

70

(c) 2oE™
(d) “en

mmw-mmaﬁzﬁwam%?

(@) ToEH

(c) wﬁaagawaha ‘
@) R

P # Y Frw arw W oew e

aﬁwmﬁtﬁﬁg:m%?»
(a)«. |

(b) SRR

(c) W
@ wofm

[P.T.O.




71. Semiconservative ' replication of
eukaryotic genetic material was

first demonstrated by Taylor
et al, using root tip cells of -

" {a) Pisum sativum

(b) Vigna aconitifolia”

(c) Arabidapsis thaliana

- (@) Vicia jaba

72.

73.

| -(b) Séx

a

The diploid chromosome number
of the garden pea is 2n =14. How
many different trisomics could
be formed in this: plant?

(a) 7

(b} 14

(0 21

(d) 42

Which one of the following is also
known as  supernumerary
Chromosome? AT

() Lampbrush chromosome of
vertebrate oocyte ) )

chromosome- of
Drosophila © "

(c) B-chromosoifié bf plants

(d) Giant chromoSomé  of
salivary gland cell of
dipterans T

22’

‘74 From *‘which of the followmg

75.
~ separates the primary xylem and

76.

genera is
obtained?

agar-agar mamly

(a). Ulothrix and Chara

(b) Gelidium and Pterocladia
(c) Gracilaria and Nostoc

(d) Polysiphonio and. Ectocarpus

Which 'one of the following

primary phloem of a dicot stem?
(@) Cork cémoium

(b) Procambium

{c) Interfascicular cambium

(d) Fascicular cambium

Structurally which one of the

.. following is the most . SImple

77.

amino acid?
(a) Alanine
(b) Cysteine
(c) Glycihe
(d) Lysine "

Which one of the following

families has sepals, petals,

“stamens and carpels in the ratio
of 2:2:3:17 .

(a) Brassicaceae
(b) Asteraceae |
(c) Solanaceae

(d) Liliaceae

n
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72.

. ()

73.
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Wﬁ %{[ﬁmwm2n=14 a’

T A 3 fnd g w

g7

(@ 7
14
(c) 21

(d) 42

+ff S ST 27 )
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(b) @'ﬂ’lﬁﬁl’lwﬁmw
(c) el 1 B-TorgH

(@) RE % aR woh = q;[m

qoega
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T4

wwma@,m ﬁwaﬁzﬁ

“ﬁmzﬁm%‘a

) ﬁﬁlﬁmsﬂ—{m

75.

Wm%?

76.

7.

(d) gefmua

e = A w3 A e

T TR T 37

'(a) LUEET

(b) fafes
(c) gl
(d) wrsfE

% 3 e oo ogw d siafid,

2:2:3:18ae
(@ ¥R
(b) TR

(d) fafrest

[P.T.O.




78. A man with blue eyes marries a

79.

80.

brown-eyed woman, whose
mother had blue eyes, what
proportion of the'children would
be expected to have blue eyes?

@ 1/4

® 172
¢ 3/4
d) 1

Chillies are good sourcé of
(@) vitamin A
(b) vitamin B
(c) vitamin C

(d) vitamin E

Organic soil contains how much

percentage of organic matter?
(@) 10%
(b) 30%
@ 50%
(d) 70%

81. Which of the following has been

/4

- named after the name. of the

discoverer?.

(a) Mitochondria
(b) Plastids

(c) Goigi bodies
(d) Ribosomes,

82.

Down’s- syndrome is an example

.of

83.

84.

(a¢) monosomy
(b) trisomy

(c) triploidy
(d) polyploidy

The segment of DNA ' which
participates in crossing over is
known as )

{a) muton
(b) recon
(c) cistron

(d) replicon

A chromosoine with centromere
in diffused condition along its

- length is .

85.

“(a} acentric

(b} dicentric
{c} polycentric

(d) telocentric

Which one of the following is not
an auxin?

(a) 1AA
(b) 1BA
() BAP

(d) NAA




78. Wﬂ?’ﬁ Sﬁﬁ a'ré Ef"q Eﬁ ‘:M%(;S‘{'\ﬁ

stg Tt Bt A Bt R, & R A A

- i@ Tl oft, IgF T 9 TE A
et sttt =1 wwifm sgaa B @
3 o
(@ 1/4
(b) 1/2
(c) 3/4

@1

79. B 7 Rrad) s O 37
(@) frrfi ¢ !
(b) Rafm
) Tafm &
(@) Tt €
80. wHfw fgt # Py whwm FRE
weref i S @7
(@) 10% |
(b) 30%
() 50%
(d) 70%

81. i B TfersHTe % AW W 27
(a) WIS
(b) <TEieS
(c) et ST
(d) T

/4 ' 25

82.

83.

Down’s Syndrome T T80T 8

(a) BFVEH B

(b) FEEER T
(c) Reatadia
@) i .

DNA hl ¥, \‘rﬁ crossing—over ,,ﬁ
T I R, wEATr § ‘

@ T

v iy

84.

(c) Rz |
FRUNIEE

Yo wrEm el dA diffused
e & R e 3 e 2, 2

(a) RS

(b) SERRE

(c) TR

Y ) AR

85S.

T ¥ P9I & Auxin T 27
@ s

(b) IBA

(c) BAP

d) NAA

[P.T.O:




86.

87.

88.

89.

/4

Bt cotton is the outcome of

(c) tissue culture ™

(d) conventioﬁﬁf*"ﬁf"eéding v

Citrus canker’ is caused by
(@) PeStaloﬁd tﬁéae |

(b) Xanthomonas Citr{ ’

(c) Macrophomina (sp{eciés‘

(d) Peronospora.parasitica

Puccinia graminis s a member of
(a) As‘com:}?cétés

(b) Basidiomycetes

(c) Phyéomycetes . ‘

(d) imperfect fung1 N

In which zone of atmosphere O,
is present? .

{a) Mesosphere

(b) Troposphere

(c) Stratosphere-

(d) Th_ermdsphere’

90, Roots are poorly developed in-

(a) hygrophytes

{b) mesophytes

(é} hydrophytes
(d) xerophytes

. The climatic regions of India

where annual rainfall is  léss
than 20 inches is classified
under o '

| (a) dry zone

(b) wet: zone
(¢ intermediate zone

(d) arid zone

. A bisexual flower which never

opens is'called . .

' (a) heterogamous

(b) homogamous

(c) cleistogamous .

(d) dichogamous

93. .A clone 1s constituted by a gi‘bup

of individuals obtained through

. (a) sexual hybridisation

(b) somatic hybridisation
(c) cybridisation

(d) vegetative propagation
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(a) SEARE TEHETE Y

87
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(o) e often
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88.
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89.

(a) TEIEHEE
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, _W%?

(a) FEEERR
(b) QITHRR

(o) WAERR

/4

(d) wrebRR

90. w§ T w0 felm Ah ¥,

91.

(a) TEOEEE
(b) NEHEE

(o) TEEER

(d) SUHTEE

WRd % 98 climatic %PFIT ”GI'ST
zosaﬁmawfmmﬁﬁ 3&

- % zone # w@a &7

(a) @isﬁa
B
() 3‘2@%@@?

(@) E&:th
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() frrimg

. (d) SR
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(@) ﬁagaaawﬁmw :
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(c) WRRETEE

 (d) iR W
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- o

b 96.

C 97,

/4

The oldest fossils belong to
(a) green algae -
(b) blue-green algae

(o) fungi

(d) bacteria

Who 1s regarded ) vas father of
Indian Palaeobotany?

(a) Shiv Ram Késhyap |

(b) M. O. P. Iyengar

| (c) erbal Sahm

(d) K. C. Mehta

Central Drug Research Institute

is located at

(a) Patna

(b) Kolkata

(¢) Lucknow -
(d) Kanpur

Y

‘Which of the’ ‘follo‘{rihg» is not a

macronutrient?

(a) Copper

(b) Phosphorus.

() Magnesiuma

‘28

98

99.

100.

Cyclic ' photophosphbrélation
releases -

(a) ATP only

(b) NADPH, only

(c) ATP aﬁd NADPH,,

.(d) ATP, NADPH, and O,

Reserpine, a drug, is extracted

. from

(@) Rauwolfia serpentina
(b) Atropa belladonna

(c) Digitalis purpurea

(@) C_offea robusta v

In-situ conservation of
germplasm means

(a) maintaining the species in
its natural habitat undls-
turbed by man :

(b) ma1nta1n1ng the species
‘under experimental field
conditions

(c) maintaining the species
under cont_rol_led chambers

(d) maintaining: the species
through  tissue culture
techniques




24.

95.

96.

(d) o Hio Agal

e YU fossil foreen 27

@ Mt

(b) = Terht

(c) i

(d) ddfen

¥ 4 ¥ R Palacobotany %
far 2 s 37

(a) Rrm v

(b) o Mo o JFR

(c) = wrEh

Central Drug Research Institute

e }7

(a) 9T

R ,arllaway

97.

(c) m

(@) wER

Eﬁ ¥ FH Macronutrient T# 87
(@ FR
(b) wrePE

_”(c)'ﬁiﬂﬁm '
() %ﬁm

/4

‘98, RIAFEHNATT F § T release

qary?
(a) ¥aE ATP
(b) TG NADPH,

 (¢) ATP 3R NADPH,

(d) ATP, NADPH, 3R O,

99. WIH, W TH I ¥, W@ fwmen

100.

T 2

(a) mﬁmmrsm |
(b) THW IAEET
() Shrefera wafan |

(d) IR e

e |-y
FAEYA | F1 TR 7

(@) frdt wfishist # 3a% wrplew
FEW A HE-FEW oA el
et #1 A T@A 7 A

(b) Tt whizhisr =t My &= F TR
@

(in-situ)

(0 fh wfisfi® +  controlled

chamber ¥ maintain &

(@) Rt i 1 Ry we e
B TR T |
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